Substitution

D Q-+ O-s
Use the given facts to work out the calculations.

a) .+.+O

b).+'-©
IOHONOR AL

© A-> l-
Use the given facts to work out the calculations.

o AN

b) Ax.

¢) Create your own calculation that will be equal to 22

60

[ ey A+T +O

e If x =5, write the values of the expressions in the corresponding grid.

The first one has been done for you.

3x 57 2x -5 15 2SS S
4x + 2 % 2(x + 1) 22 2-S 1
7x x+9 | x-7 S [ -2

o If a =10 and b = 6, work out the values of the expressions.

a) a+b=| b
b) a-b=| L
c 2a=| 20

4

o If m = T and k = 0.1, work out the value of m + 2k

d) 2a+b=| 26
e) 3a-17=| 12
f) 2@-b)=| &
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It does not matter

o a=10

Write the expressions in order, starting with the smallest value.

what p and g are, p + q and

q + p will always give the
same answer.

a
5a a+5 = a?

Do you agree with Mo? _4eb

Explain your answer.

_Addibon (s commukotdve

a+SsS Soa o’

wle

o a=15

0 m=7 n=5 Write three different algebraic expressions that give a value of 40

e.q.

Write >, < or = to compare the expressions.

Ra
Ao+ 0 3a -S 3
a) 2m @ 10
@ Complete the table. @
X 5x 5x -1
b) n-1 5
Z 10 q
10 50 L9
) 2n+m®2m+n 12 60 59
5 25 24U
3S 34
d) n @ 5m 20 (OO 99

White

© White Rose Maths 2019




